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Q.2 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िच˥ (?) को Ůित̾थािपत कर
सकती है।

58, 67, 83, 108, ?

Ans 1. 139

2. 157

3. 178

4. 144

Question ID : 65497841971

Status : Answered

Chosen Option : 4

Q.3 यिद '@' का अथŊ 'जोड़' है, '%' का अथŊ 'गुणा' है, '$' का अथŊ 'भाग' है, और '#' का अथŊ 'घटाना' है, तो
िनɻिलİखत ʩंजक का मान ǒात कीिजए।

23 @ 105 $ 15% 6 # 29

Ans 1. 23

2. 36

3. 40

4. 28

Question ID : 65497841976

Status : Answered

Chosen Option : 2

Q.4 िदए गए कथनो ंऔर िनʺषŘ को ȯानपूवŊक पढ़Ő। यह मानते Šए िक कथनो ं मŐ दी गई जानकारी सȑ है,
भले ही वह सामा̢य ŝप से ǒात तȚों से िभɄ Ůतीत होती हो, तय करŐ िक िदए गए िनʺषŘ मŐ से कौन-
सा/से िन̽कषŊ कथनो ं का तािकŊ क ŝप से अनुसरण करता है/करते हœ।

कथन:
सभी चमगादड़, पƗी हœ।
कुछ चूहे, चमगादड़ हœ।

िनʺषŊ:
I. कुछ चूहे, पƗी हœ।
II. कुछ पƗी, चमगादड़ हœ।
III. सभी चूहे, चमगादड़ हœ।

Ans 1. केवल िनʺषŊ I और II अनुसरण करते हœ।

2. केवल िनʺषŊ II अनुसरण करता है।

3. केवल िनʺषŊ I और III अनुसरण करते हœ।

4. केवल िनʺषŊ I अनुसरण करता है।

Question ID : 65497841969

Status : Answered

Chosen Option : 1
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Q.5 चार अƗर-समूह िदए गए हœ, िजनमŐ से तीन िकसी न िकसी ŝप मŐ समान हœ और एक असंगत है। उस
असंगत अƗर-समूह का चयन कीिजए।

Ans 1. BEG

2. LOQ

3. GJM

4. TWY

Question ID : 65497842567

Status : Answered

Chosen Option : 3

Q.6

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844401

Status : Answered

Chosen Option : 3

Q.7 यिद A 'जोड़' को, B 'गुणा' को, C 'घटाना' को और D 'भाग' को दशाŊता है, तो िनɻिलİखत ʩंजक का
मान िकतना होगा?

66 A (132 D 12) C (4 A 3) B (15 D 5) A 16 B (–3)

Ans 1. 56

2. 6

3. 10

4. 8

Question ID : 65497843591

Status : Answered

Chosen Option : 4

Q.8 एक िनिʮत कूट भाषा मŐ, यिद ESTEEM को HVWHHP के ŝप मŐ िलखा जाता है, तो उसी कूट भाषा मŐ
DOCTOR को िकस ŝप मŐ िलखा जाएगा?

Ans 1. FQEVQT

2. GRFWRU

3. GRGVST

4. HSGXSV

Question ID : 65497844628

Status : Answered

Chosen Option : 2
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Q.9

Ans

1. 

2. 

3. 

4. 

Question ID : 65497842586

Status : Answered

Chosen Option : 2

Q.10

Ans
1. 

2. 

3. 

4. 

Question ID : 65497844306

Status : Answered

Chosen Option : 2
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Q.11 उस सही िवकʙ का चयन करŐ जो नीचे िदए गए शɨों को एक तािकŊ क और अथŊपूणŊ Ţम मŐ दशाŊता है।

1.Ţोड
2.वायुमंडल
3.Ű˦ाǷ
4.सतह
5.आकाश गंगा

Ans 1. 1, 3, 4, 5, 2

2. 1, 4, 2, 5, 3

3. 1, 4, 2, 3, 5

4. 4, 3, 5, 2, 1

Question ID : 65497844634

Status : Answered

Chosen Option : 2

Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 65497841979

Status : Answered

Chosen Option : 4

Q.13 उस िवकʙका चयन करŐ जो तीसरी संƥा से उसी Ůकार संबंिधत है जैसे दूसरी संƥा पहली संƥा से
संबंिधत है और छठी संƥा पांचवी ं संƥा से संबंिधत है।

21: 112 :: 36: ? :: 51: 272

Ans 1. 252

2. 192

3. 198

4. 72

Question ID : 65497844396

Status : Not Answered

Chosen Option : --
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Q.14 िदए गए िवकʙों मŐ से वह संƥा चुिनए जो िनɻिलİखत ŵेणी मŐ Ůʲवाचक िच˥ (?) के ̾थान पर आ
सकती है।

3, 11, 31, 69, 131, ?

Ans 1. 198

2. 163

3. 152

4. 223

Question ID : 65497842576

Status : Answered

Chosen Option : 4

Q.15 िन̱नांिकत मैिटŌƛ का ȯानपूवŊक अȯयन करŐ और िदए गए िवकʙों मŐ से उस संƥा का चयन करŐ जो
इसमŐ Ůʲ िच˥ (?) के ̾थान पर आ सकती है।

12 8 100
18 6 111
15 4 ?

Ans 1. 102

2. 78

3. 62

4. 108

Question ID : 65497842580

Status : Answered

Chosen Option : 3

Q.16 अƗरो ं के उस संयोजन का चयन करŐ जो दी गई Şंखला मŐ įरƅ ̾थानो ं पर Ţिमक ŝप से रखे जाने पर
Şंखला को पूणŊ करेगा।

g _ o _ d k _ m _ f _ o _ k k _ g f o _ d _ k m

Ans 1. f o k g o d f o k

2. f o k g o d m o k

3. f o k g o d m o m

4. f o k d o d m o k

Question ID : 65497844631

Status : Answered

Chosen Option : 2

Q.17 एक िनिʮत कूट भाषा मŐ 'ROUBST' को 61 के ŝप मŐ कूटबȠ िकया जाता है। उसी भाषा मŐ
'FORTUNATE' को कैसे कूटबȠ िकया जाएगा?

Ans 1. 124

2. 114

3. 142

4. 141

Question ID : 65497844388

Status : Answered

Chosen Option : 2
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Q.18

Ans

1. 

2. 

3. 

4. 

Question ID : 65497844406

Status : Answered

Chosen Option : 1
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Q.19 एक िनिʮत कूट मŐ, 6218 का अथŊ 'Laptop is a computer' है और 8217 का अथŊ ' Computer is a
machine' है। ‘Machine makes our life easy’ के िलए िनɻिलİखत मŐ से कौन से कूट का Ůयोग
िकया जाएगा?

Ans 1. 75894

2. 76834

3. 58795

4. 75344

Question ID : 65497842571

Status : Answered

Chosen Option : 4

Q.20 'A + B' का अथŊ है िक 'A, B की बेटी है'।
'A $ B' का अथŊ है िक 'A, B का पित है'।
'A @ B' का अथŊ है िक 'A, B का भाई है'।
'A & B' का अथŊ है िक 'A, B की माँ है'।
'A% B' का अथŊ है िक 'A, B का बेटा है'।
यिद 'W @ S% K $ G & U & T @ R + C' है, तो िनɻिलİखत मŐ से कौन सा कथन सही है?

Ans 1. G, R की नानी है।

2. C, U की पȉी है।

3. C, K का ससुर है।

4. G, W के िपता है।

Question ID : 65497843583

Status : Answered

Chosen Option : 1

Q.21 उस िवकʙका चयन करŐ जो तीसरे पद से उसी Ůकार संबंिधत है जैसे दूसरा पद पहले पद से संबंिधत है
।

HARMONY : BMLGUDK :: RESOLVE : ?

Ans 1. VEOIVHU

2. EVOJHVU

3. OVEJUHV

4. VOEIUVH

Question ID : 65497844285

Status : Answered

Chosen Option : 1

Q.22 एक कॉलेज मŐ पूरे िशƗणːाफ का औसत वेतन ₹2,000 Ůित िदन है। पुŜष िशƗकों का औसत वेतन
₹2,500 है और मिहला िशƗकों का औसत वेतन ₹1,200 है। यिद पुŜष िशƗकों की संƥा 16 है, तो
कॉलेज मŐ मिहला िशƗकों की संƥा ǒात कीिजए।

Ans 1. 12

2. 10

3. 18

4. 14

Question ID : 65497844296

Status : Answered

Chosen Option : 2
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Q.23 िदए गए िवकʙों मŐ से उस अƗर-समूह को चुिनए जो िनɻिलİखत ŵंृखला मŐ Ůʲवाचक िच˥ (?) को
Ůित̾थािपत कर सकता है।

RSX, NQW, JOV, FMU, ?

Ans 1. BKT

2. DKS

3. CJS

4. BLT

Question ID : 65497841959

Status : Answered

Chosen Option : 1

Q.24 नौ कमŊचारी K, L, M, N, O, P, Q, R और S कायाŊलय मŐ एक सीधी पंİƅ मŐ पूवŊ िदशा की ओर
अिभमुख होकर बैठे हœ। O, M के दायŐ तीसरे ̾थान पर है। K, P के बायŐ तीसरे ̾थान पर है। Q ठीक P
और S के बीच मŐ है। N, M के दायŐ चौथे ̾थान पर है। P, N के ठीक दायŐ पड़ोस मŐ है। R, O के बायŐ चौथे
̾थान पर है। िनɻिलİखत मŐ से कौन सा कथन सही नही ं है?

Ans 1. L, O के बायŐ तीसरे ̾थान पर बैठा है।

2. Q, K के दायŐ चौथे ̾थान पर बैठा है।

3. R और S छोर पर बैठे हœ।

4. O ठीक K और N के बीच मŐ बैठा है।

Question ID : 65497843584

Status : Answered

Chosen Option : 1
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Q.25

Ans

1. 

2. 

3. 

4. 

Question ID : 65497843594

Status : Answered

Chosen Option : 1

Q.1 संसद के दोनो ं सदनो ं Ȫारा पाįरत होने और ______ Ȫारा सहमित के बाद कोई िवधेयक संसद का
अिधिनयम बन जाता है।

Ans 1. रा̽टŌ पित

2. Ůधानमंũी

3. लोकसभा अȯƗ

4. उपरा̽टŌ पित

Question ID : 65497844428

Status : Answered

Chosen Option : 1

Section : General Awareness
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Q.2 िनɻिलİखत मŐ से कौन-सी एक ŮायȪीपीय नदी है?

Ans 1. नमŊदा

2. िसंधु

3. गंगा

4. Ű˦पुũ

Question ID : 65497843611

Status : Answered

Chosen Option : 1

Q.3 आिथŊक सवőƗण 2020-21 के अनुसार, िवȅ वषŊ 2021 की दूसरी छमाही मŐ आयात मŐ ______ तक
िगरावट आने की उʃीद है।

Ans 1. 11.3%

2. 8.2%

3. 6.3%

4. 5.4%

Question ID : 65497844310

Status : Not Answered

Chosen Option : --

Q.4 िनɻिलİखत मŐ से कौन-सी भौितक रािश, ʩंजक चाप/िũǛा के िलए है?

Ans 1. तल कोण

2. वेग

3. पृ̽ठ तनाव

4. रेखीय संवेग

Question ID : 65497844315

Status : Answered

Chosen Option : 1

Q.5 ˢǅभारत िमशन (SBM) ˢǅभारत लƙको पूरा करने के िलए महाȏा गांधी को ŵȠांजिल के
ŝप मŐ वषŊ ______ मŐ शुŝ िकया गया था।

Ans 1.  2016

2.  2014

3.  2017

4.  2015

Question ID : 65497842596

Status : Answered

Chosen Option : 2
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Q.6 फेरम (Ferrum), ______ का लैिटन नाम है।
Ans 1. जˑा

2. िनकल

3. लोहा

4. तांबा

Question ID : 65497841989

Status : Answered

Chosen Option : 3

Q.7 Ůाचीन भारत मŐ गोũ Ůथा के बारे मŐ िनɻिलİखत मŐ से कौन सा कथन सȑ है?

Ans 1. Ůȑेक गोũ का नाम एक ŮिसȠ राजा के नाम पर रखा गया था।

2. समान गोũ के लोग उस ʩİƅ के वंशज माने जाते थे िजसके नाम पर गोũ का नाम रखा गया था।

3. पुŜषों और मिहलाओं से समान गोũ मŐ िववाह करने की अपेƗा की जाती थी।

4. मिहलाओं ने शादी के बाद अपने िपता के गोũ को बरकरार रखा।

Question ID : 65497841999

Status : Answered

Chosen Option : 2

Q.8 िनɻिलİखत मŐ से कौन-सा एक जल Ůदूषक नही ं है?

Ans 1. आसőͤिनक

2. Ţोिमयम

3. गाद

4. िहमनद

Question ID : 65497844317

Status : Answered

Chosen Option : 4

Q.9 िनɻिलİखत मŐ से कौन-सा, भारत का पहला पेपरलेस बजट है?

Ans 1. कŐ ūीय बजट 2021-22

2. कŐ ūीय बजट 2018-19

3. कŐ ūीय बजट 2019-20

4. कŐ ūीय बजट 2020-21

Question ID : 65497843604

Status : Answered

Chosen Option : 1

Q.10 राजा अजातशũु ______ वंश के शासक थे।
Ans 1. मौयŊ

2. िशशुनाग

3. हयŊक

4. नंद

Question ID : 65497842604

Status : Answered

Chosen Option : 3
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Q.11 एक Ɨेũीय Ťामीण बœक मŐ, भारत सरकार का िहˣा ______ होता है।
Ans 1. 20%

2. 50%

3. 60%

4. 40%

Question ID : 65497844410

Status : Answered

Chosen Option : 4

Q.12 लॉस एंिजʤ İƑपसŊ और पोटŊलœड टŌ ेल ɰेज़सŊ ______ टीमŐ हœ।
Ans 1. मिहला टेिनस

2. पुŜष बाˋेटबॉल

3. मिहला हॉकी

4. पुŜष वॉलीबॉल

Question ID : 65497844331

Status : Not Answered

Chosen Option : --

Q.13 िसİſम के ______ ȑोहार को भूिम पूजा या चंडी पूजा के नाम से भी जाना जाता है।
Ans 1. साकेवा

2. बारािहिमज़ोगं

3. लोसर

4. इंū जाũा

Question ID : 65497841985

Status : Not Answered

Chosen Option : --

Q.14 भारत के संिवधान का अनुǅेद ______ संिवधान मŐ पįरवतŊन करने की ŮिŢया बताता है।
Ans 1.  351

2.  374

3.  342

4.  368

Question ID : 65497842612

Status : Answered

Chosen Option : 4

Q.15 संसद मŐ धन िवधेयको ं के संदभŊ मŐ, िनɻिलİखत मŐ से कौन सा कथन गलत है?

Ans 1. यह केवल एक मंũी Ȫारा पेश िकया जा सकता है, न िक एक िनजी सद˟ Ȫारा।

2. लोकसभा राǛसभा की सभी या िकसी भी िसफाįरश को ˢीकार या अˢीकार कर सकती है।

3. इसे केवल लोकसभा मŐ पेश िकया जा सकता है।

4. इसे राǛसभा Ȫारा अˢीकार या संशोिधत िकया जा सकता है।

Question ID : 65497843621

Status : Answered

Chosen Option : 4
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Q.16 िनɻिलİखत मŐ से कौन 'कामायनी' महाकाʩ के लेखक/लेİखका हœ?
Ans 1. महावीर Ůसाद िȪवेदी

2. महादेवी वमाŊ

3. गोपाल सरना िसɎा

4. जयशंकर Ůसाद

Question ID : 65497843617

Status : Not Answered

Chosen Option : --

Q.17 1932 का पूना पैƃ महाȏा गांधी और ______ के बीच एक समझौता था।
Ans 1. बाल गंगाधर ितलक

2. लॉडŊ इरिवन

3. अरिबंदो घोष

4. बीआर अɾेडकर

Question ID : 65497844424

Status : Answered

Chosen Option : 4

Q.18 ȕरण के SI माũक मŐ 'सेकंड' का घातांकƐा होता है?

Ans 1. +1

2. 0

3. -2

4. -1

Question ID : 65497843609

Status : Answered

Chosen Option : 3

Q.19 'द Ťेट गैट्सबी' नामक उपɊास िनɻ मŐ से िकसने िलखा है?

Ans 1. िचनुआ अचेबे

2. एफ. ˋॉट िफट्जगेराʒ

3. हापŊर ली

4. ऐिलस वाकर

Question ID : 65497844426

Status : Not Answered

Chosen Option : --

Q.20 नाम बदलने से पहले, माउंट एवरेː को केवल ______ के ŝप मŐ जाना जाता था।
Ans 1. पीक VI

2. पीक IX

3. पीक XV

4. पीक XII

Question ID : 65497841996

Status : Not Answered

Chosen Option : --
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Q.21 ‘टू लाइ̺स (Two Lives)’ नामक पुˑक के/की लेखक/लेİखका कौन हœ?
Ans 1. चेतन भगत

2. िवŢम सेठ

3. अŜंधित रॉय

4. सुधा मूितŊ

Question ID : 65497844326

Status : Not Answered

Chosen Option : --

Q.22 'पोगं' और 'तापु' ______ राǛ के लोकिŮय नृȑ हœ।
Ans 1. गोवा

2. अŜणाचल Ůदेश

3. िबहार

4. छȅीसगढ़

Question ID : 65497842590

Status : Answered

Chosen Option : 4

Q.23 संयुƅ रा Ō̓ जनसंƥा Ůभाग Ȫारा संकिलत सूची के अनुसार, ______ 2015 और 2020 के बीच
जनसंƥा मŐ 44% की वृİȠ के साथ दुिनया का सबसे तेजी से बढ़ने वाला शहर है।

Ans 1. कोझीकोड

2. जयपुर

3. मलɔुरम

4. सूरत

Question ID : 65497842603

Status : Not Answered

Chosen Option : --

Q.24 ______ , ūव की सापेƗ िनमŊलता (relative clarity) का माप है।
Ans 1. कंपोİːंग

2. आिवलता

3. चालकता

4. अपचयन

Question ID : 65497844415

Status : Answered

Chosen Option : 2

ww
w.
go
vt
jo
bs
al
er
t.i
n



Q.25 मȯ Ůदेश सरकार Ȫारा कįरʳा यादव को ______ के िलए िवŢम पुरˋार 2019 से सʃािनत िकया
गया था।

Ans 1. हॉकी

2. तीरंदाजी

3. तैराकी

4. िनशानेबाजी

Question ID : 65497842007

Status : Not Answered

Chosen Option : --

Q.1

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844333

Status : Answered

Chosen Option : 3

Q.2

Ans
1. 

2. 

3. 

4. 

Question ID : 65497843631

Status : Answered

Chosen Option : 3

Q.3

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844446

Status : Answered

Chosen Option : 1

Section : Quantitative Aptitude
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Q.4

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842639

Status : Answered

Chosen Option : 3

Q.5

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844354

Status : Answered

Chosen Option : 2
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Q.6

Ans
1. 

2. 

3. 

4. 

Question ID : 65497844451

Status : Answered

Chosen Option : 3

Q.7

Ans
1. 

2. 

3. 

4. 

Question ID : 65497842629

Status : Answered

Chosen Option : 3

Q.8

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842014

Status : Answered

Chosen Option : 3
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Q.9

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844449

Status : Answered

Chosen Option : 2

Q.10

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843042

Status : Answered

Chosen Option : 1

ww
w.
go
vt
jo
bs
al
er
t.i
n



Q.11

Ans
1. 

2. 

3. 

4. 

Question ID : 65497843434

Status : Answered

Chosen Option : 2

Q.12

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843634

Status : Answered

Chosen Option : 4

Q.13

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842623

Status : Answered

Chosen Option : 2

ww
w.
go
vt
jo
bs
al
er
t.i
n



Q.14

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843637

Status : Answered

Chosen Option : 1

Q.15

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844352

Status : Answered

Chosen Option : 2

Q.16

Ans

1. 

2. 

3. 

4. 

Question ID : 65497844334

Status : Answered

Chosen Option : 4
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Q.17

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843644

Status : Answered

Chosen Option : 1

Q.18

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842009

Status : Answered

Chosen Option : 2

Q.19

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842821

Status : Answered

Chosen Option : 1

Q.20

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843426

Status : Answered

Chosen Option : 2
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Q.21

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843642

Status : Answered

Chosen Option : 2

Q.22

Ans 1. 

2. 

3. 

4. 

Question ID : 65497842024

Status : Not Answered

Chosen Option : --
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Q.23

Ans 1. 

2. 

3. 

4. 

Question ID : 65497843143

Status : Answered

Chosen Option : 1

Q.24

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844440

Status : Answered

Chosen Option : 1

Q.25

Ans 1. 

2. 

3. 

4. 

Question ID : 65497844443

Status : Answered

Chosen Option : 3
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Q.1 The following sentence has been divided into parts. One of them may contain an error.
Select the part that contains the error from the given options. If you don’t find any
error, mark ‘No error’ as your answer.

Every Saturday, / the workers gets / their weekly wages.

Ans 1. the workers gets

2. Every Saturday

3. No error

4. their weekly wages

Question ID : 65497842034

Status : Answered

Chosen Option : 1

Q.2 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Which movie have you watched on television when I called you?

Ans 1. did you watched

2. were you watching

3. No substitution required

4. are you watching

Question ID : 65497844156

Status : Answered

Chosen Option : 2

Q.3 Select the most appropriate ANTONYM of the given word.

Exonerate 

Ans 1. Exempt

2. Engage

3. Absolve

4. Acquit

Question ID : 65497842659

Status : Answered

Chosen Option : 2

Q.4 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The contrast between / Britain and other countries / of Europe / are striking.

Ans 1. The contrast between

2. Britain and other countries

3. of Europe

4. are striking

Question ID : 65497842643

Status : Answered

Chosen Option : 4

Section : English Comprehension
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Q.5 Select the most appropriate meaning of the given idiom.

Cool as a cucumber

Ans 1. Calm and composed

2. Irritated and annoyed

3. Happy and excited

4. Nervous and fidgety

Question ID : 65497842054

Status : Answered

Chosen Option : 1

Q.6 Select the most appropriate synonym of the given word.

Squawk

Ans 1. Suggest

2. Explore

3. Scream

4. Connote

Question ID : 65497844475

Status : Not Answered

Chosen Option : --

Q.7 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

This TV channel has a larger viewership from another channel.

Ans 1. than any other channel

2. No substitution required

3. from any other channel

4. from the other channel

Question ID : 65497842047

Status : Answered

Chosen Option : 1

Q.8 Select the most appropriate option to fill in the blank.

You will find it difficult ______ but later you will get used to wearing a mask.

Ans 1. at first

2. at the first

3. firstly 

4. on first

Question ID : 65497843675

Status : Answered

Chosen Option : 1

ww
w.
go
vt
jo
bs
al
er
t.i
n



Q.9 Select the option that expresses the given sentence in indirect speech. 

Ajay says, “There is going to be a snowfall.”

Ans 1. Ajay says that there is going to be a snowfall.

2. Ajay says that there was going to be a snowfall.

3. Ajay said that there is going to be a snowfall.

4. Ajay said that there was going to be a snowfall.

Question ID : 65497842652

Status : Answered

Chosen Option : 1

Q.10 Select the most appropriate synonym of the given word.

FINAL

Ans 1. Allowed

2. Forbidden

3. Former

4. Concluding

Question ID : 65497844373

Status : Answered

Chosen Option : 4

Q.11 Select the most appropriate meaning of the given idiom.

A hair in the butter

Ans 1. A slippery road

2. Easy to handle

3. Sinking in debt

4. A challenging situation

Question ID : 65497842661

Status : Not Answered

Chosen Option : --

Q.12 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

It has / been raining / since / two hours.

Ans 1. It has

2. since

3. been raining

4. two hours

Question ID : 65497844460

Status : Answered

Chosen Option : 2
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Q.13 Select the option that expresses the given sentence in passive voice.

Who is creating this mess?

Ans 1. By whom is this mess being created?

2. Who has created this mess?

3. By whom this mess being created?

4. By whom has this mess been created?

Question ID : 65497844463

Status : Answered

Chosen Option : 1

Q.14 Select the correctly spelt word.

Ans 1. Convect

2. Conect

3. Convert

4. Concent

Question ID : 65497844482

Status : Marked For Review

Chosen Option : 3

Q.15 Select the option that can be used as a one-word substitute for the given group of
words.

One who can read and write

Ans 1. Illiterate

2. Eligible

3. Illegible

4. Literate

Question ID : 65497844480

Status : Answered

Chosen Option : 4

Q.16 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

In spite of my niece’s dog Casper is very mischievous, he is lovable.

Ans 1. Nevertheless my niece

2. However my nieces

3. No substitution required

4. Although my niece’s

Question ID : 65497844371

Status : Answered

Chosen Option : 4
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Q.17 Select the option that expresses the given sentence in passive voice.

The judge found the prisoner guilty.

Ans 1. The judge was found guilty by the prisoner.

2. The prisoner had been found guilty by the judge.

3. The prisoner has been found guilty by the judge

4. The prisoner was found guilty by the judge.

Question ID : 65497844361

Status : Answered

Chosen Option : 4

Q.18 Select the option that can be used as a one-word substitute for the given group of
words.

Drawings or writing on a wall in a public place

Ans 1. Graffiti

2. Caricature

3. Collage

4. Portrait

Question ID : 65497843673

Status : Answered

Chosen Option : 4

Q.19 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. Firstly, it provides air for respiration, serves the sense of smell and conditions the
air by filtering, warming and moistening it.
B. The nose is the prominent structure between the eyes that serves as the entrance to
the respiratory tract.
C. For inhalation it has two cavities, separated from one another by a wall
of cartilage called the septum.
D. Apart from filtering the air, it also cleans itself of foreign debris extracted from
inhalations.

Ans 1. BADC

2. DBCA

3. BACD

4. ACDB

Question ID : 65497844372

Status : Answered

Chosen Option : 1

Q.20 Select the most appropriate ANTONYM of the given word.

Obscure

Ans 1. Veiled

2. Cloudy

3. Apparent

4. Blurred

Question ID : 65497842052

Status : Answered

Chosen Option : 3
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The camel and the fox were very good friends and very good thieves. One day, the two
friends (1) ______ to cross the river so that they could travel to a (2) ______ farm to steal
food. The small fox (3) ______ swim, so the camel said to his friend, ‘Climb (4) ______ onto
my back and I will swim across the (5) ______.’

SubQuestion No : 21

Q.21 Select the most appropriate option to fill in blank number 1.

Ans 1. will decide

2. are decide

3. decided

4. deciding

Question ID : 65497843657

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The camel and the fox were very good friends and very good thieves. One day, the two
friends (1) ______ to cross the river so that they could travel to a (2) ______ farm to steal
food. The small fox (3) ______ swim, so the camel said to his friend, ‘Climb (4) ______ onto
my back and I will swim across the (5) ______.’

SubQuestion No : 22

Q.22 Select the most appropriate option to fill in blank number 2.

Ans 1. nearly

2. nearby

3. nearest

4. near

Question ID : 65497843658

Status : Answered

Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The camel and the fox were very good friends and very good thieves. One day, the two
friends (1) ______ to cross the river so that they could travel to a (2) ______ farm to steal
food. The small fox (3) ______ swim, so the camel said to his friend, ‘Climb (4) ______ onto
my back and I will swim across the (5) ______.’

SubQuestion No : 23

Q.23 Select the most appropriate option to fill in blank number 3.

Ans 1. ought to

2. may not

3. might

4. could not

Question ID : 65497843659

Status : Answered

Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The camel and the fox were very good friends and very good thieves. One day, the two
friends (1) ______ to cross the river so that they could travel to a (2) ______ farm to steal
food. The small fox (3) ______ swim, so the camel said to his friend, ‘Climb (4) ______ onto
my back and I will swim across the (5) ______.’

SubQuestion No : 24

Q.24 Select the most appropriate option to fill in blank number 4.

Ans 1. over

2. above

3. across

4. up

Question ID : 65497843660

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The camel and the fox were very good friends and very good thieves. One day, the two
friends (1) ______ to cross the river so that they could travel to a (2) ______ farm to steal
food. The small fox (3) ______ swim, so the camel said to his friend, ‘Climb (4) ______ onto
my back and I will swim across the (5) ______.’

SubQuestion No : 25

Q.25 Select the most appropriate option to fill in blank number 5.

Ans 1. ocean

2. river

3. sea

4. lake

Question ID : 65497843661

Status : Answered

Chosen Option : 2
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